PAR

H

HCP

o

270 mt

281 mt

B 181

304 mt 18

316 mt

= 1m—

o=
—2mt —

NEXT TEE B

@ 100mtadiniziogreen

NEXT TEE )

@ 100mtadinizio green

@ 150mtadiniziogreen 150 mt.ad inizio green

—2Bmt—

NEXT TEE

@ 100mt.adiniziogreen

NEXT TEE I NEXT TEE
@ 100mt.adiniziogreen

@ 150mt adiniziogreen @ 150mt adiniziogreen

191
B 148

NEXT TEE

@ 100mt.adiniziogreen

NEXT TEE )

@ 100mt.adiniziogreen

@ 150mt adiniziogreen @ 150mt adiniziogreen



NEXT TEE B

@ 100mtadiniziogreen

oo @ 150mt ad inizio green

I
i

—

{ l
[
C
—24m—|

NEXT TEE W

@ 100mt.adiniziogreen

@ 150mt adiniziogreen

NEXT TEE )

W 120
154

NEXT TEE )

PAR | 4

315 mt
331mt
333 mt

373 mt

T
£
2

).
—28m—

¢
-3

NEXT TEE

@ 100mt. adinizio gree

@ 150mt adinziogree

PAR | 4

244 mt
258 mt

277 mt

I
@
o
(]

295 mt

—0m —

o \-
L
(
—18mt—

NEXT TEE )

@ 100mtadinizio green

@ 150mt adiniziogreen

4
'

@ 100mt.adiniziogreen

@ 150mt adiniziogreen

B 145
190

B 125

165

wio im0

NEXT TEE

[

)

l

30
1

NEXT TEE W

@ 100mt.adiniziogreen

@ 150mt adinziogreen

PAR | 4

HCP| 9

262 mt
276 mt

) 3
313 mt
B 214
329 mt 164
—1mt—
@ 100mt.adiniziogreen
@ 150mt adiniziogreen

F—22mt.—




